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By wood designated for a Korbon Shlomim — Donbw YRy

OVERVIEW

X955 27 explained the reason there is no 77°v» here by the wpn xy,' because the
wood (with which the bread was baked) was designated for the purpose of using it
to purchase a 0°n%w 127, which is 0°%p 0°w7p and there is no 77°vn by 2°%p DWTp;
however it is still forbidden to derive 1X37 from them.> Our mPoWn offers an
alternate solution.

mooIN anticipates an alternate solution:
- 471915 9397 NUNY 219102 WP S8 DPINY Y81 9N

The X723 could have established this case by w7pi s3¥ and the w7pn "Xy were used
intentionally to bake the bread and there would be no 779°v» according to "' —

mooIn explains why the X713 did not offer this solution:

TP MAYY RNDNT RNIIN INDT NON
For rather it is not common practice to transgress by illegally using wipn
intentionally

SUMMARY
The X713 did not answer that he used the 7°12 WP "XV, since it iS uncommon to
use wpi illegally 712,

THINKING IT OVER
"1 asks the same question,” but gives a different answer. What are the respective
advantages of each answer?

2. Why is it preferable to qualify the words of a X71X\Xin, rather than to establish
the ruling in unusual circumstances?

'f there was 79°yn the wood would become 7917, the bread would then be 9mn since it is baked with 791 *¥y.

* See *¥ya "7 v,

? The advantage of this answer is that it is not necessary to qualify the wTp *X¥ to mean 22w 3.

* See the X3 here that *"7 maintains that if one uses 72 wTp7 it does not become 711 (because there is no 1°¥n
13).

3 RHRY "7,
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